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Part A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1. Who knew that our decision to boycott school lunch would ........... a huge riot?
1) submit 2) summon 3) renounce 4) induce
2. Common ........... of diabetes are weight loss and fatigue.
1) schemes 2) convergences 3) commitments 4) symptoms
3. Although she often disagreed with me, she was always ........... .
1) identical 2) courtcous 3) impatient 4) affluent
4. If you're the least bit unsure about the meaning of a word you ........... to use in
your essay, don't use it.
1) intend 2) inspect 3) accuse 4) pollinate
S. There was a sudden ........... of activity in the housing market.
1) spurt 2) integration 3) resident 4) component
6. Weare living in an ........... in which technology is developing very rapidly.
1) rumor 2) era 3) constriction 4) explosion
7. The teller who ........ ... with the bonds went uncaptured until someone

recognized him from his photograph on America's Most Wanted.

1) absconded 2) assembled 3) condemned 4) maintained

8. Is the companywide survey on which the recommendation depends potentially
biased and therefore not ........... ?

1) nocturnal 2) deficient 3) credible 4) initial

9. Handwriting experts try to compare a dubious signature against at least three

genuine specimens before judging its ........... :
1) defect 2) enthusiasm 3) textile 4) authenticity
10. After speaking to only one of the students, the teacher was able to ........... what

had caused the fight.

1) esteem 2) suffice 3) surmise 4) impress
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Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best
its each space. Then mark the correct choice on your answer sheet.

Professor Silliman points out that the lower the temperature of the air we inhale,
the more readily and copiously the lungs eliminate carbonic acid, and the languor and
depression we feel, on a hot summer day, ...(11)... to this cause. In the hot-air system
of warming, the surface of the body ...(12)... comfortable unless the air be maintained
at a temperature much higher than necessary when radiant heat ...(13)... .

Bad as the system is, gas stoves are worse; at least such as provide no escape for
the gases of combustion. While we admit ...(14)... faults of both a positive and
negative character, we believe these faults have been much over-rated. It is doubtful,
...(15)..., whether anything will be devised that, for all classes of people, in all
conditions of life, could take the place of the cast-iron stove.

11. 1) is attributed  2) attributed 3) attributing 4) that is attributed
12. 1) not keeping  2) cannot be keeping 3) cannot be kept 4) cannot keeping
13. 1) was used 2) used 3) is used 4) was using

14. 1) that have 2) they have 3) to have 4) which they have
15. 1) thus 2) although 3) because 4) however
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